EQUATIONS WITH FRACTIONS


10M2 – 05/12/05

1. Solve 




3e – 5  =  7
     




    4

multiply both sides by 4
:

add 5 to both sides

:

divide both sides by 3
:

Solution


:


2. Solve 




8 – 3v  =  2
     




    5





:





:





:

Solution


:


3.  Solve 



13 – 4w  =  w + 2
     




     3

multiply both sides by 3
:

add 4w to both sides
:

subtract 6 from both sides
:

divide both sides by 7
:

Solution


:


4. Solve 




13 – 2x  =  4 - x
     




    3





:





:





:

                       

:

Solution


:


5. Solve 




3(y – 4)  =  y + 3
     




                   2

multiply out the brackets
:

multiply both sides by 2
:

subtract y from both sides
:

add 24 to both sides
:

divide both sides by 5
:

Solution


:


6. Solve 




2(z + 1)  =  4z – 5  + 9
     




                       3





:





:

                      

:

                        

:

                    


:





:

Solution


:


7.  Solve 



3n - 1  =  2n + 5
     




     4             3

multiply both sides by 3
:

multiply both sides by 4
:

subtract 8n from both sides:

add 3 to both sides

:

Solution


:

8. Solve 




1 – 4z  =  2z + 3
     




    3               2





:





:





:

                       

:

Solution


:

 

9. Solve 




a  + 2  =  a
     




5             4

multiply both sides by 5
:

multiply both sides by 4
:

subtract 4a from both sides:

Solution


:



10. Solve 




p + 4  =  p – 3  + 5
     




   2             3

   



:

   



:

  



:

Solution


:



11. Solve 




d  +  d  = 15
     




2      3

multiply both sides by 2
:

multiply both sides by 3
:

divide both sides by 2
:

Solution


:





12. Solve 




2y + 1  +  y – 3  =  2
     




   2              5

   



:

   



:

  



:

Solution


:



13. Solve 




m  + 7  =  m + 8  - 3
     




6                   2

multiply both sides by 2
:

multiply both sides by 6
:

subtract 2m from both sides:

subtract 12 from both sides:

divide both sides by 4
:

Solution


:





14. Solve 




3x - 1  -  2x – 3  =  2
     




    5             4

   



:

   



:

  



:

  



:

  



:

Solution


:

